16"
T MFN160
s LN TN N N\
}
16"
15/v16" ﬁ15/8" MFN161
* L\ >
16"
+ %55/8"% MFN162
15/$16" /. N/ N
16"
15/v16" H15/8" MFN163
% L\ VA NN
16"
15/v16" Hl 5/8" MFN164
* L N/ '\ /N>
16"
+ %55/8”—ﬂ MFN165
15/16" |/ _ U N
}
16"
+ ﬁw/s" MFN166
15116" £ NC_ /S N/ N\ o
}
16"
+ %55/8"—ﬂ MFN167
15/16" [, N\ VAR N N
}
16"
% ﬁls/s" MFN168
15/$16" LN/ AR

1 N\ 610-395-8445
N

o ATAS INTERNATIONAL, INC
Allentown PA

Mesa AZ
480-558-7210

TITLE

Rigid Wall II Panel Detail

16" -
+ A MFN169 W
15/16" |/ _ AN N
!
+ IR - MFN120
56" [N/ N N\
f 19"
+ H1 5/8" MFN121
1516" / \L N
! 12"
MFN122
A
15/16" |/ _ AR
% 19"
+ Hl 5/8" MFN123
15/16" [ N\ VAR N N
* 12"
+ Hl 5/8 MFN124
516" /. N\ / N\ o
%
g"
+ H 15/8" MFNO8O
1516 L N/ N>
f g" :
+ H1 5/ MFNOS81
15/16" /. \_ N
f
g
MFNO82
| 5 5/8"
15/16" |/ | A
f

DR DATE
DMR 7/11/2016

APP DAS DATE 7/25/16

SH. SIZE B SCALE X_X




#10 x 1" Wafer Head Fastener

Rigid Wall II Panel

t:::::::::::::::::::i:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::E:::::::::::::::::::::::::::::::i::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::(:::
t:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::E::::::::::::::i::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::E:::‘
v v
\
- — L _ _ _ 1

(2
=
Y

Pre-Drill Fastener Holes for Panels Greater than 20'-0" in Length.

P Pre-Drilled Fastener Hole

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

"™Rigid Wall II Interlock Panel Detail

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

. . DR DATE,
pwe.No DMR 10/5/2016
APP DATE
MATERIAL

SH. SIZE B SCALE X_X




Vertical Panel

Interior Finish

Insulation

1/2" Plywood (min.)

Water and Air Resistive Barrier

Rigid Wall II Panel

Membrane Strip over Base Trim and Fastener

#10 x 1" Wafer Head Screw

WA

Base Trim

/ /
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/

11/4"

.

-

92°

=g

MCA661 - Base Trim

Allentown PA
610-395-8445

\\ ® Mesa AZ
> 480-558-7210

ATAS INTERNATIONAL, INC

TITLE i .
Rigid Wall IT Base Detail
DWG. NO. DR DMR DATE7/11/2016
TR 7 oas ™ 7/25/16
T\IEOV DATE DESCRIPTION OF REVISION BY | APP SH. SIze B SCALE X:X




Vertical Panel

Interior Finish

Rigid Wall II Panel
Insulation
1/2" Plywood (min.)

Water and Air Resistive Barrier

Su
Painted Pop Rivet (24" 0.C. Max.)

7

| c)rtz/

Underlayment

Angle Trim
J Channel
Backer Rod and Sealant

10

-1+
MCA681 - Support Z

% 1 5/8"ﬂ

E'S

!
1"
v

MCA680 - Angle Trim

F 13/4" -~

ﬁ
1/4"CH.—= = | 1 1v/8"
718"
MCA118 - J Channel

ATAS INTERNATIONAL, INC

NS Allentown PA
% 610-395-8445
- Mesa AZ
\

480-558-7210

TITLE _ .

Rigid Wall IT Endwall Detail
DWG. NO. DR MBP DATE7/11/2016
MATERTAL AP pas  |PAE7/25/16

REV.
NO.

DATE

DESCRIPTION OF REVISION BY

APP

SH. SIZE B SCALE X_X




Vertical Panel

N4 | \X/ ” \\Y/ / \r/ ” ';\\i,/ * \\(/ Y \1/

Inside Corner Post

\
\
\
\
\
\
\
\
\
\
\
\\ /\ )|

— -~ 234" ﬂ
— / Membrane Strip over Inside Corner Post i
T~ _ 11/8"
N Rigid Wall II Panel */
—_ - Support Z
T _ _ * 11/2" ~—4
/>*\ Painted Pop Rivet (24" 0.C. Max)
B \ #10 x 1" Wafer Head Screw
f Insulation .
e ~/ 4" =1 %
\ Interior Finish .
\\;\ iy H 1/2" Plywood (min.) F 1" 3/4"

Water and Air Resistive Barrier

MCA681 - Support Z

N

MCA601 - Inside Corner Post

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

- Mesa AZ

\ 480-558-7210

NN

TITLE m s . .

Rigid Wall IT Inside Corner Detail
\\\\\\\ DWG. NO. DR MBP DATE7/11/2016
MATERTAL AP DA |PATE 7/25/16
T\‘EOV_' DATE DESCRIPTION OF REVISION BY | APP SH. SIzE B SCALE - w:X




Vertical Panel

~~~~

\
|

\
|

\

\

\

N \l/ \Y/ N

\ / /

~—~—~

\|J \X/
A A A

/

Outside Corner Post
J/ e

£
””””””””””””””””””””””””””” e ———
::::::::::::::::;::::::::::::::::::::::::::::::::::

I | I | I | |
NEANE AN AN ANEY ANV

1/2" Plywood (min.)

Insulation

Interior Finish

Water and Air Resistive Barrier

#10 x 1" Wafer Head Screw

Support Z

Painted Pop Rivet (24" 0.C. Max)

Membrane Strip Over Outside Corner Post

Rigid Wall IT Panel

}
11/8"

h 2 3/4"— 4"
i
3/ 1 1/2“#——

MCA602 - Outside Corner Post

e

ATAS INTERNATIONAL, INC

MCA681 -

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

Support Z

""Rigid Wall II Outside Corner Detail

DWG. NO. DR DATE
MBP 7/11/2016

AP pas  PATE 7/75/16

MATERIAL

REV.
NO.

DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B

SCALE X : X




Vertical Panel

Coping System (Rapid-Lok Coping System)

x

\_ Wood Nailer
—=— — —= —— J Closure
H =
| E g 1
[ - m— #10 x 1" Wafer Head Screw

\

Rigid Wall IT Panel

Water and Air Resistive Barrier

4

N

S -
=

Insulation

1/2" Plywood (min.)

Interior Finish

-~ 11/8"

e
) 13/4" —1-

L 7/8"

MCA270 - ] Closure

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
\\ : Mesa AZ
480-558-7210

TITLE

Rigid Wall II Top of Wall Detail

DWG. NO. DR - DATE7/11/2016

APP DATE
MATERIAL DAS 7/25/16

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




Vertical Panel

Insulation

Rigid Wall II Panel

Plywood Substrate

Membrane Strip

#10 x 1" Wafer Head Screw

=
NAYTRINN

Water and Air Resistive Barrier

Ring Shank Nail

Base Trim

11/4"
Window

1/2" 1/2"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ

MCA661 - Base Trim

) 480-558-7210
TITLE . -
Rigid Wall II Head Window Flange Detail
e DWG. NO. DR DATE
JAC 8/1/2018
APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




A A A A A A /\
R N U

AR

foN N N

e /. 2

= S \
Y
%Y.
A
Y
|

\Window

Trim Board

Backer Rod and Sealant
Ring Shank Nail

Angle Trim

#10 x 1" Wafer Head Screw
J Channel

ATA - Guard

Insulation

Plywood Substrate

Rigid Wall II Panel

Support Z

S.S. Painted Pop Rivet
24" 0.C.

~ 1"~ 34

k1 5/8“ﬂ
— i f 1/4" C.H. ﬁ; 141/8"

it
-y
MCA681 - Support Z MCA680 - Angle Trim MCA118 - J Channel

158"

ATAS INTERNATIONAL, INC

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

TITLE —
Rigid Wall II Jamb Window Flange Detail

DWG. NO.

DR
JAC

DATE

8/2/2018

APP

NO.

REV.

DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

DATE

SH. SIZE B

SCRE 3.y




R

2074
0
NN

NS NS NS NS NS N NN NN

{
A
/A

|
\

/
/A

\

{
/
/A

|
A
[\

\
/N
AN
\/

|
/

|
A
[\

\
/N
AN

|
/

\
/N

| |
A /

/A
[

\

NN N

/ /

/

\
\

NSNS N

\/
)

\/

\/ \\/ \/

\/
\

\/
)

NAN L N N

\/
)

il
1

\/
)

\/
)

\/
)

/
)

\/
)

/
)

N N N SN N N

=

?;

Window

Trim Board

Backer Rod and Sealant
Ring Shank Nail

Angle Trim
J Channel

Angle Trim
ATA-Guard
Plywood Substrate
Rigid Wall II Panel
Insulation

11/8"
3/4"

¢1"ﬁ
: R
11 1 J/8" [

1 4

MCA680 - Angle Trim  MCA118 - J Channel

1/4" C.H.

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

DWG. NO. DR 1AC DATE 8/3/2018

APP DATE

MATERIAL

REV.
NO.

SH. SIZE B SCALE X_X

DATE DESCRIPTION OF REVISION BY | APP




Vertical Panel

N AV

-

N

Interior Finish

Insulation

1/2" Plywood (min.)

Water and Air Resistive Barrier

Membrane Strip over Head Trim

#10 x 1" Wafer Head Fastener

Rigid Wall II Panel

Head Trim

Backer Rod and Sealant
Head Angle Trim

Painted Pop Rivet (24" 0.C. Max.)

N

\
(R

Existing Window

11/4"

90

1/2"OH. | o
o
* ﬂ

MCA550 - Head Trim

o 1/2||

3/4"

Head Support Z

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
‘\ - Mesa AZ

> 480-558-7210

"Rigid Wall II Head (Existing Window) Detail

DWG. NO. DR DMR DATE7/11/20]_6

APP DATE

REV.

NO DATE DESCRIPTION OF REVISION

BY

APP

MATERTAL DAS 7/25/16

SH. SIZE B SCALE X_X




Vertical Panel

I
I

|

|

I

I
|
| i
[
i
I |
Ll
&

N

Existing Window

Backer Rod and Sealant
Angle Trim

Butyl Tape

//

#10 x 1" Wafer Head Screw
J Channel
Membrane Strip over J Channel and Angle Trim

13/4" =
Water and Air Resistive Barrier T f
1/2" Plywood (min.) 1 5/8" 1
Insulation T 1/4" C.H. 11/8"

lanll B
Support Z x i *

1|| "

Painted Pop Rivet (24" 0.C. Max) q 7/8 J——~

Interior Finish MCA680 - Angle Trim MCA118 - J Channel

Rigid Wall IT Panel

ATAS INTERNATIONAL, INC
Allentown PA

1 n ]
3/4"
610-395-8445

n
~1 J Mesa AZ

\\ | 480-558-7210
MCA681 - Support Z

"Rigid Wall II (Existing Window) Jamb Detail

DWG. NO. DI

R DATE
DMR 7/11/2016

APP DATE
MATERIAL DAS 7/25/16
REV.

SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




Vertical Panel

Existing Window

Backer Rod and Sealant

Angle Trim

J Channel

N

NN LT

Rigid Wall II Panel

Water and Air Resistive Barrier

1/2" Plywood (min.)

Insulation

Interior Finish

#10 x 1" Wafer Head Fastener

3

15/8"

"

MCA680 - Angle Trim

11/8"

ERE:

134" | [

-

o yacen

MCA118 - ] Closure

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

DWG. NO. DR EP DATE7/11/2016
MATERIAL AP pas [PATE 7/25/16
SH. SIZE B SCRE .y




Vertical Panel

AN

N

LT

Interior Finish

Insulation

1/2" Plywood (min.)

Water and Air Resistive Barrier

Membrane Strip over Head Trim

Rigid Wall II Panel

Head Trim
Head Angle Trim

Backer Rod and Sealant
Painted Pop Rivet (24" 0.C. Max.)

Window

90

1/2" O.H.

K

i

MCA550 - Head Trim

1/2n

:
T

1/2" W.H.

MCA690 - Head Angle Trim

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

‘\ - Mesa AZ
) > 480-558-7210

TITLE

Rigid Wall IT Head Detail

DWG. NO. DI ATE

" ovMr |"7/11/2016

APP DATE
MATERTAL DAS 7/25/16

REV.

NO. DATE

DESCRIPTION OF REVISION

By | App SH. SIZE B SCALE X:X




Vertical Panel

Window

Angle Trim With Return
Backer Rod and Sealant

Angle Trim
Butyl Tape
#10 x 1" Wafer Head Screw
J Channel
1/2" W.H. Membrane Strip over J Channel and Angle Trim | 34 o
Water and Air Resistive Barrier T
1/2" Plywood (min.) 1 5/8" I
\ Insulation T 1/4" C.H. 11/8"
ol o
Support Z x i *
1|| "
312" Painted Pop Rivet (24" 0.C. Max) i 7/8 J——~
Interior Finish MCA680 - Angle Trim MCA118 - J Channel
1"4—
" T 3/4" Rigid Wall II Panel
ATAS INTERNATIONAL, INC
NS . Allentown PA
. NS s
L 480-558-7210
MCA683 - Angle Trim Without Return " 0 WAL T Jarh Detel
o DMR | 7/11/2016
MCA681 = SU pport Z — MATERIAL :::IZEASB :::E 7/§(5./)1(6




Vertical Panel

Window

/ Backer Rod and Sealant
/ Window Sill Trim

#10 x 1" Wafer Head Screw
J Closure

AR

Rigid Wall II Panel

Water and Air Resistive Barrier

bk
Y RVAV]

Insulation

Interior Finish

1/2" P|YWOOd (mln) />\ ; 3 3/4" 1" -

11/8" 1/2" W.H. ¥ (
T 1/2" O.H.

2"

IR

—

MCA270 - J Closure MCA670 - Window Sill Trim
\ -
|

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ

S ]

N iad % RN 480-558-7210
N Hi "™ Rigid Wall II Window Sill Detail
H DWG. NO. DR MBP DATE7/11/2016
MATERIAL AP pas [PATE 7/25/16
T\‘E(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




